th-2 189 AABC oA AB

12cm, AC = 15¢cm & M, s%n
sin B
29
3 4 3
® é @) é ® 1
@i 93

sinB = =B = 13 sinC =
AH AH
AC 15
AH
sinC 15 12 4
sin B AH 15 5
12




Dy=x+1V2
@ y=x+2V2
® y=V2x+ V3
@ y=V3x+ V3
@)y = V3x+3+3

Ry

tan60° = V3 O]Diy = V3x+b°f (-3

0=-3V3+b

=
webA] ok ARYe-ol

&

3
A2y = V3x+3V3 ot




o A7 B
ofat.
> =
7
> ®e:

= o arg 7ol

B

A B oA AC 9

H 2} 51 sind =
sinC @ . BH
sinA = 8




4.  tan(2A-30°) = V3 & ), V2(sin A + cos A) — 2 9] gk FotoiE}
(2 0°<A<90°)

> E.

> He o

B

tan 60° = V3 ©]B2 2A — 30° = 60°, A = 45° O|t}. ThEhA

sin45°+cos45°=£+£— VZolmZ VEx V3-2=0

olct.




o5 293 22 A4 ZPABC oA
/A = 40° , AB = 25cm @ W}, AC ,
BC 9] Zol& Az £stddat. (H,
sin40° = 0.64, cos40° =0.77)

.

i
o
B

19.25 = g cm

\VARRVARR AR 4
X
i

0
it

16 cm

AC = 25¢c0s40° = 25 x 0.77 = 19.25(cm)
BC = 25sin40° = 25 x 0.64 = 16(cm)




6. TR oA /B =45°0]1 /C=30° Y o, AH ©] Zo|E FLo}H?

A
g

@8(\/5—1) cm @8(\/3—1)(:111
@8(2—\/§)cm @8(2—\/5 cm
® 8(3- V3)cem

— 16

A= (90°1 - 30°) + tan (90° — 45°)

- taligo°+tan45°

V3+1
28(‘/3—1) (cm)




7. o2 13O AABC oA /B =135°,BC = 10cm, AABC 2] Hol7}
30V2cem? ¥ o, x 9 gr-& Fstedat

>
> HE. 12 cm

(AABC 9] Ho]) = % x 10 X x X sin(180° — 135°)

=302
2
%_x:%‘/i

. x=12(cm)




o 93 22 0ABCD 9] Yol& -}
ofzt,

vV V¥
N

0.
I

-i

n

F2 50V3 + 30 V6 cm?

AC AC AC 3
$in60° = — = —~, —~ =12

BC 20 2 2
-~ AC =103 (cm)

(DABCD 9] ¥©o])= AABC + AACD
= % x 20 X 10 V3 x sin 30° + % x 103 X 12 x sin 45 °

1 1 1 2
:§x20x10\/§x§+§x10\/§><12x\/7_

= 50 V3 + 30 V6 (cm?)




9. the 1w el A152] Zol7k 30 A U O o4 ABLCM , OM = 6
2 o, @ AB ©] Zoli?

TN

O 12 @ 16 3®)24 @ 34 ® 36

OB = 15, O_M—QOIDE

AOBM ©f|4] BM = V152 - 92 = 12
BM = AM o|B2 =2
AB=2x12=24




The Al 5.0ptAB L= HHR 2o Za

017} 13 91 Ye] AR Ho|h, AB =

3 of, CD ] Zol&? A
@1 @ V2 22 @ 2

991 34 097 ¢, 7 AS QAT

AAOD °|A OD = VAO® —AD? = V132 —52 = 12
~.CD=0C-0D=13-12=1




11. o3 J"oA F Y 0, O 9 §1259] Zol= 2+ 6em , 8cm ©]2L

=
(OAOQ" =90° ¥ o, 53 AB 9] Zol&

1

“afolat,

12
® —=cm

00 = V36+64=10
AAOO’:%x6x8:%x10xm

— 24
“AM =
5

E:QW:%(cm)




12. o5 T34 PA, PB &= ¥ O 9] 4o

= A
. /P =60° OA = 6cm ¥ o, AABP
o] yo]=?
= P<]
B
@ 24cm? @27 \/§ch ® 12 \@cm2
@ 40+V3cm? ® 54cm?

~&B

PA = PB ©|B2 AABP &= R E 7}
o] A717} #-& FAZrolth.

PO € J°oW 9o} &2 Oo] "ot
o2t PA:AO=1: V3 =6:PA o]t}

~PA=6vV3cm, % x (6V3)% = 27 V3(cm?)




13. o2 1" = 24 PA, PB= ¥ 0 9 HAolal H A, B+ HHE
olt}, /APB = 60°, AP = 6cm & T, AAOB 9] Hol&?

@ 4cm? @3 V3em? ® 10cm?
@ 12V2cm? ® 12V3cm?

~&B

(APB = 60° , PA = PB ©|2 2 APAB & A4tztgdolt}. what
4 AB = 6cm ©|T}.

~~3cm-- 4 -8cm-~ B

PO £ 12 AOAP 94 ZOPA = 30°, ZAOP = 60°
AO:AP=1:V3=A0:6 ..AO=2v3(cm)

AOAB £ o] eHadZtgelnz 4 O oA e =49 TS H
2t & o,

OH = /(2 /3)2 - (3)% = ¥3(em) oIk,

1
. AOAB = §x6>< V3 = 3V3(cm?)




14. o2 19H9 AABC oA A =

AH1BC ¥ o, cosy 9] ZH-2?

90°,E=6cm,ﬁ=8em,

AABH SHOACBA, AAHC ¢OABAC
TE3HBC = V62482 =10cm ©]2 & cosy =

olct

o] w




15.

o 283} Zo] A9 flell 7] AFh7t A
ATE. A ZHANA 7] AlFe] Hi7] ¢ &
L@t & 7}o] 0° 0|11, A A Hol|A Z7] Al
S FFo 2 12m Aoj7t B Aol A HE &
2dto] AlZHh 229 BD 2] 40743 m
o|1 e =uke] FArt30° A wf, =7] Al o]
0] CD&?

@ 6V3 (m) @16 V3 (m)
® 20V3 (m) @ 68V3 (m)
® 70V3 (m)

B

AH =12+ 4V3cos30°

:12+4\/§x§

=18 (m)
ﬁ:4\/§sin30°:4\/§x%:2\/§ (m)

CH = AH-tan60 = 183 (m)
.. CD=CH-DH=18V3-2V3=16V3 (m)




e

16. ™I 2 Tl A AHT C A
A Atel9] 721 AltstAEY 220m
oltt. A A3 B A Aol o] Az

=7

r

o WA, o uVE,
o AW, o uWE,
D=,

CH = 220 x sin 45° = 220 x ‘/Ti = 110 V2(m)
.CH=AH
g L 220%(111)

cos30° 3




17. g 293 2L A7

iy

.l

\YARR 4
04
L

57V3 cm?

ABCD 9] Yo]& +ofofe},

~&B

dBSHDEAE

V3

2

1
- X6x6
2>< X 6 X

= 57V3(cm?)

1
+§x8\/§x8\/§x 5

sl
(DABCD 9] Ho])= AABD + ABCD

1 1
5><6><6><sm120° +5x8\/§x8\/§xsin60°

V3




18.

Oh2 T o] RAg o] Zol7t 12
A GArAA Q] g HAH O oA ¥
Aol W 49 3 Hef stal, BC
ol ZHdS M o]z}t 5F&. L/OMH = x
,/AOH =y 2t & o], sinx x tany 9]
PEETRCY

OH AH
OM OH
4\/' 443
T 6v3 V6

2
3

Sosinx Xtany =




